Most Asked Questions By SSC




" Find the difference between squares of the greatest value and the smallest value of P if the

number 5306P2 1s divisible by 3.
Ifq 5306P2 &AM, 3 € fquTs" B, o P& 3Mferddd A4 AR YAdH 49 & Il D

&= 3iav sTd B |




Fourth proportion to 12, 18 and 6 1s same as the third proportion to k and 6. What is the value

of k?
12, 18 31X 6 BT agAiTurd k3R 6 b THATUT & SRR 2| kBT 911 9 PR |




SSC 2022+ CGL+CHSL+CPO / EET at 06:30 PM

If a number 1s first increased by 15%, then reduced by 15%, it results in 782. If the same

number is first reduced by 25%, then increased by 25% and again reduced by 20%, then what

will be the resulting number?

afe fedl d&ar 4 ggd 15% a1 gfg i 8, R 15% &1 &H sl 2, dl s9a1
gRom 782 BT afe ST @& # ugd 25% a1 &1 81, B 25% &) gfyg =l 30
e A 20% B HH B, 9l RO AT SITd B | 4

(a) 712

ﬂlm (b) 150

(c) 750

m) (d) 600
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”In AABC, DE || AB, where D and E are the points on sides AC and BC, respectively. If AD =
x—3, AC = 2x, BE = x-2 and BC = 2x + 3, then what 1s the value of x?

AABC ®, DE || AB®, WI&f D 3R E ®#er: qolRll AC 3MY BCWR fag 21 afs AD=
x-3,AC=2x, BE=x231R BC=2x+3%, d x &I A9 ATd dN |

(a) 12

(c) 8

=) (d)9



| - 2
]COS[ZA B]@ 0°, A+ <90 and 0° < "A:FB < 90° then find the value

of sin[3(A-B)].

2 | | | 2 2 e
?Tilc{sin[ A;I—B]COS[ 2B ,0°, p:rB <90 3R 0° < frB <90°®, dl sin[3(A-

B)] &T HIH SITd &N |

mp (b)'/ >
(c) t/ 2

(d) Y3/,
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A shopkeeper allows 16% discount on every item. Even after giving the discount, he makes a

profit of 8%. If he gives 8% discount instead of 16% on an item marked for Rs. 1800, then
what will be his profit percent? (correct to 2 decimal places)

By GhHMAR, Ud®d I WX 16% BT <dl & | BC &1 & dI& Hl, 39 8% &I o™
ghar 81 afe 98 1,800 &. 3Afha qeu arell g WX 16% & 99, 8% @& BT <dl
g, dI SO Ufera am¥ (S¥Med @ &l 19 db del) Sid D | ‘

(a) 18.31
(b) 19

» (c) 18.29

(d) 18
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"In AABC, D is the mid-point of side AC and E is a point on side AB such that EC bisects BD
at F. If AE = 30 cm, then the length of EB i1s:

AABC H, HoIT AC &T #eg fa=g D 3R 4ol ABW Us fa<g E 39 YR B & EC,
BD &I fa=g F ux gafgHifoa &dl 21 afe AE=30cm @, d EB &1 didIg =1d & |

(a) 10 cm

(b) 20 cm

» (c) 15 cm

(d) 18 cm



[ 18 o .
Itx+y:2,a.nd—+—=?, then the value of (x* + y?) is :

x y

Irl%x+y23ﬁ?i+§=1?8 2, @ (x +y?) BT A ST B

3
(b) 42

CEE
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AABC is inscribed in a circle with center O, such that ZACB = 115°. O is joined to A. What

1s the measure of ZOAB?

ABC g Odlel Teh gd H 3H YR 3ifehd & f6 ZACB=115°81 O A & fAama

T gl LOAB ST HATT AT g2

(a) 30°
(b) 20°

» (c) 25°

(d) 35°
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A trader bought two articles for Rs. 490. He sold one at a loss of 20% and the other at a profit

of 16%. If the selling price of both articles 1s same, then the cost price (in Rs.) of the article
sold at 20% loss 1s :

Uh fasbar 4 490 w. d T &gl @K | S U 9% Dl 20% BT 9X 9471 3N

O 9¥q Bl 16% oM U d91| AfE S 9Eg3 @ fawa gea waE @, al 20%
B U 99 T8 9% &1 H9 oI ( 99 H) S B |

(b) 310
(c) 280
(d) 300
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A boat goes 27 km upstream and 33 km downstream in 6 hours. In the same time it can go 36
km upstream and 22 km downstream. How much time will it take to go 36 km upstream and

44 km downstream?

®ig 19 6 g¢ 4 orT &I faufia feem 9 27 f&hA. &1 & R ar1 @1 feen 4 33
foft. &1 g aa o<t 21 a9 & wwa 4, 98 9 garT P fQudla feem A 36
fodl. o1 O @Y g @ feem 4 22 &l @ <80 99 &% G&dl 2| I8 99 grxT

&1 faudia feem 4 36 foddl. @1 <& 8k arT @1 Qe 4 44 fod. @7 <& foad |
9T § qF sfi?

»(a) 8 h

(b) 8 h10 m

(c)7h50 m
(d) 8 h30m
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If x>+ 4y*>= 53 and x — 2y = 5, then what is the value of x* — 8y3?

AfE x2+4y2=533MRx-2y=57%, dl x>—8y> BT HI STd &N |

» (b) 335

(c) 155
(d) 85
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The value of 4(sin*30° + cos*30°)-3(sin245° — 2c0s245°) is:
4(sin*30° + cos*30°)-3(sin%45° — 2¢0s245°) BT HIF FTd DR |

mP (b) 4

(c) 2
(d) 0



They average height of some students in a group 1s 156 cm. If 5 students of average height

160 cm join the group, then the average height of all the students in the group increases by

0.8 cm. What is the number of students in the group, initially?

UH 98 & ©B BMEl dI 3Ed $98 156 cm 2 | IfE 160 cm A_d HATE 9T 5
B9 OE d Wl 8ld 2, df 99E @ 9l 8=l @l 3ii¥ud a8 ¥ 0.8 cm &1 gfg

gidl 21 v A 9qg ¥ fead s 47




